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wo  hundreds

twenty-two  thousands, two

hundreds twenty-two
C. two hillion, two hundred twenty-twe million,

two hundred

and twenty-two thousand, two

hundred and twenty-two
D. two billions, two hundreds and 1wenty-two

rmillions,

two hundreds and

twenty-two

thousands, twe hundreds and twenty-two

5.1 encugh money next year, I will buy a
car.
A would have B. should have
C. have D. will have

6. He asked me if I

for the holidsy.
A. would go
C. will go

7.China is larger than

back to my hometown

B.go
D, went

in Eurcpe.

A. any other country

P 0 PR R L W NEY Sty S

B. other countries
C. any countries
D. any country
8.“ do you want?”“Size 40."
A, How much size
C. How size
(GREWit]
M. 7B
Most American families are __9

families in other countries. Most American [amilies

B. How many sizes
D. What size

than the

have one or two parents and one or two _ 10 each.
Children in the USA will leave their parents’
home when they 11 . They usually live _ 12
. They

often write to their parents or telephone them. And

their parents because they want to find _ 13

they often _ 14 their parents on holiday.

Parents usually let their children choose _ 15 .
Armericans think it important for young pecple to
decide on their lives _ 16

Children are asked 17

their house. And in many families, children 18
doing some housework so that they can learn how to

some work around

make money for their own use.
B. fewer

D. smaller

9. A. more
C. larger

10. A. student B. students
C. child D. children
11. A grow B. grow up
C. grow-ups D.get old
12. A. away from B. away
C.{ar from D. far
13. A. good jobs B. good works
C.a job well D.a work well
14.A. g0 B. go visit
C. go 1o visit 1. go a visit
15. A. own jobs B. their own jobs
C. own their jobs D. jobs their own
16. A. by them B. by themselves
C. by himself D. by herself
17. A.do B. daing
C.todo D. dene
18. A. are paid B. are paid for
C. pay for D. paid for
[REFAEK]

. s, EEERER

The world itself is becoming much smaller by
using modern traffic and modern communication
means{ @ R & & ). Life (oday is much easier than i
was hundreds of years ago, but it has brought new
prohlerns. One of the biggest problems is pollution. To
pollute means to make things dirty. Pollution comes in
many ways. We see it, smell it, drink it and even hear
it .

Man has been polluting the earth. The more
people, the more pollution. Many years ago, the
problem was not so serious because there were not so
many people. When the land was used up or the river
was dirty in one place, man moved to anothar place.
But this is no longer true. Man is now slowly polluting
the whole world.

Air pollution is still the most serious. It's bsd for
all living things in the world, but it is not the only
kind of pollution. Water pollution kills our fish and
pollutes our drinking water. Noise pollution makes us
angry more easily. '

Many countries are making rules to fight
pollution. They stop people from burning coal{# )in
houses and factories in tha city,and from putting dirty
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stmoke into the air. Pollution by S0; is now the most
dangerous kind of air pollution. It is caused(F]42} by
heavy traffic. We are sure that if there are fewer
people driving, there will ha less air pollution.

The earth is cur home. We must take care of it.
That means keeping the land, water and air clean. And
we must take care of the rise in pollution at the same
ure.

19. »our world is becoming much smaller.

A Because of the rise in pallution
B. Thanks t science developrent

C. Because the earth is being polluted day and |

night
D. Because the earth is blown away by the wind
every year
20. Hindreds of vears ago, hfe was _ it is
today.
A.much easier than B. as easy as
C. much harder than D. as hard as

21.Pollwtion comes in many ways. We can even hear

[ —]

LA (R A O®REAI what, )

2.B(HIE f fF" RENER SIREBNG, BE
if IR B R B AHRIENH.)

(R&SNn]

1. The world’s population is increasing.

2. The population of China is larger than that of any
other country.

3. He asked me if | enjoyed living here.

4. If you have any questions, asl me, please,

(B ]

1A (BR“ADECRSH what,)

2.B (R the population P —8F 4 V5 X et i§E
A FAE K.

3.B (thowand 5 R FHEA, FRHER.)

4.C (B F, F RS FBZ A and. )

5.C (if 31 SHAARIBIAI, H—BIE L H—
B et

6. A (if I FEFEMNA], ZFIEE asked, WATH 1S

it. Here “it” means
A rubbish
C. air poflution

22. Air pollution is the most serious kind of pollution

B. noise pollution

D. water pollution

because

A. it makes mueh noise

B. it makes us angry more easily

i C. 1t makes vut rivers and lakes dirty

D.it’s had for all living things in the world
23, Which of the following is NOT true?
A Many eountries are making tules to fight
pollution.
E.The pollution of the earth grows as [ast as the
world population does.
*. The problem of pollution 15 not so serious
because there are not so many people living on

the earth.

D. If people could go 1o work by bus or bike
instead of car or motorbike, it would be helpful

| in fighting against the problem of S0, .

| ERHERA)

7.1 (China /BT Europe. )

8.D (what size #R"B AR, “HAEHB",)

9D (RRRELEP,)

10. 1) { children 5 parents AT, )

118 (grow up “BABA":)

12. C {far from “Bg---e- fEmL” )

13. A (job BAIHE I, work BRI $ L1 .)

14.C {go wo visit “HFHE",)

15.B {one's own. .. “HRABZH- ")

16.B (by oneself “3%H . HD",)

17.C (be asked to do sth. “BERFFE",)

l 18.B (be paid for doing sth. "B ETHEIHEM" )

19.B (HH—BB—mHFENE.)

20.C (HE--BHE T aHETE,)

21.B (REE A" RBIMIT R R BTN
OU! .

| 2.D(HE=ETEH)

| 23.C (ol H 4t 1S i o H, )
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A after three day's time
B.in three day’s time
C. after three days

D.in three days’ time

12. 1t is said the population of the world may be seven
billion .

A. by the year 2010 B. by the 2010

C.in the 2010 D. in 2010 year
13. The population of France is _ ____ than
Great Britain.
A, smaller, X B. large, X
C. smaller, that ol D. larger, that of
14, There won't be encugh space ____ the earth
in one hundred years.
A.to live on B. to live in
C.to live in on D. living on in
15. We have done a lot the population
mcresase . '
A. to stop B. to slow down
C.to keep D. to prevent
[EFAMR]
. 7R E s

Since 1920, tbe population of China 16
With over one billion people today, China accounts for
23 percent of the world’s population. This increase is
__17__ problem in China’s plans to modernize itself.
Inorder to 18 this population problem,China has
begun a “one-child” policy. This _ 19 thet married
couples have to limit their families 10 one child even if
they would like _ 20 _ more children. This palicy has
been most sffective in big cities where residents(ZER)
five in crowded apartments. In the countryside,
however,the 21  say they are hard pressed to limit
their families to one child since they need more
children 22  the farm work. Factories and farms
reward“one-child” families 23 free riedical care,
hatter housing, extra vacation, and cash bonuses(Zh
). If couples have more than one child they lose
these benefits and their saleries may _ 24 by 10
percent or even more. This trend{#&%) of “one
child” families shoudld 25  China’s population
growth to a rate of 1.3 percent per year.

16. A. double B. doubled

C. has doubled + . had doubled
17. A, a small B. a greater

C. an important D. the greatest
18. A, slove B. answer

C.do D. work
19. A. mean B. means

C. is meant . meant
20. A having B. to have

C. making D. to make
21. A. officers B. workers

C. farmers D. teachers
22. A help B. to help

C. help with D. 1o help with
23. A to B. with

C.for D.in
24. A cut B. be cutted

C. be cut D.is cut
25.A. keep B.swp

C. prevent D. slow down
(BEFAE]

V. WS, I EFHER
BEIJING ( Xinhua }—Chinese have started to
enjoy cars at low prices after the country became a
member of the World Trade Organization{ WTO). At
the same time, competition between people has become
stronger. According to the China’s Ministry of
Personnel{ AZFFE) . about 170 million people will lose
their jobs after the country has joined the WTO.
However, many Chinese people living in other

oountries have come back home to face the challenges(#k
#). So far, shout 130 thousand pecple have returned.
These days, people, especially youths, have got to lmow
tha challenges of entry to the WTO. Books on the WTO
have been hot selling. Some people are leaming more
about the WTO by going to night schools.
26. This passage is probahly .
B.a note
D. a news report
27. According to the passage, how many people will

lose their jobs after China has entered the WTO?

Abowt .

AL 170,000 B. 170,000,000

C. 130,000 D. 300,000,000
28. Who cares more about the challenges of entry 1©

A. & story
C.a letter



